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Q.No: 1 Choose the incorrect match

2427553

Tad e gi

Green Revolution - 1970-1975
A

gRa wifd - 1970-1975

American Revolution - 1775-1783
B

ARt Hifd - 1775-1783

French Revolution - 1789-1799
C

IR wifd - 1789-1799

Serbian Revolution - 1804-1835
D

offar wife - 1804-1835

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Select the wrong statement regarding United Nations(UN)

2427576
TG MY (YT) S Faiy H 7o PYUT BT TG Y
UN currently has 193 members
A
HH T () F ey H Ted S B T BY
The security council has 5 permanent members
B
TR IREe # 5 =il GEW A §
Economic and Social Council is one of the main organs of UN
C
e SR e Uy Hgad g & T oft A ¥ UF §
International Monetary fund is one of the main organs of UN
D

SIRIET T 1 g Y & J&I Sl A AT §
Correct Ans : D

Subject : General Knowledge

Q.No: 3 Reflecting the rise in economic momentum, India's current account balance showed a deficit of how per cent of GDP ($8.1 billion) in the fourth quarter ended March 2021 (Q4F
2428970

e nfd ¥ 9fE 31 <id §Y, HRA & I W B A9 AR A A 2021 (Q4FY21) Bl Fud Irelt fommet & gover v 3G ($8.1 fafermy & e nfomra o1 wrer fezamane

2%
A

2%

3%
B

3%

1%
(o}

1%

D 5%



5%
Correct Ans : C

Subject : General Knowledge

Q.No: 4 Sankranti is called ‘Khichiri’ in which of the following Indian States?

2431025
Frofafea & § frw wrdha woa # Weifa o1 R T o 82
Uttar Pradesh
A
FW W
Meghalaya
B
e
Rajasthan
c
RS
Goa
D
Tt

Correct Ans : A

Subject : General Knowledge

Q.No: 5  What is the rank of India in terms of greenhouse gas emissions?
2434486

7 3139 4T F IHoH F AHA F URA HT S TR ?

Third
A

Gisn

First
B

gl

Second
C

A

Fifth
D

et

Correct Ans : A

Subject : General Knowledge

Q.No: 6  “India is won by the sword and it will be kept in British possession by the strength of the sword”. Who made this statement?
2435715

URT TR F i1 7197 § 3R S8 da@aR & 90 W 3PSl F Hea A 3@ S| 95 e w82

Lord Mayo
A

Ik

Lord Ripon
B

g o

Lord Minto
c

@i fiidt

Lord Elgin
D

<ig e

Correct Ans : D

Subject : General Knowledge



Q.No: 7 Which river originates from Amarkantak?

2435826
s 4 B @ T B IFE g S 2
Damodar
A
AR
Mahanadi
B
e
Narmada
C
Tar
Tapti
D
it

Correct Ans : C
Subject : General Knowledge

Q.No: 8  Vinesh Phogat and Anshu Malik are associated with which sport event?
2437103

i BT #iiR iy Aftie fre Qa e ¥ oS €2
Weight Lifting

A

YRR

Athletics
B

TR

Archery
C

et

Wrestling
D

it

Correct Ans : D

Subject : General Knowledge

Q.No: 9 Natyanjali is related to which of the following sects?
2440804

Tewfer 1 Ty fufeEa 7 § o Svem §
Shaiv

S

Vaishnav

g

Lokayat

capc

Angami

Shmeft
Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which country won the latest ATP Cup tennis tournament?
2440809

BTl 81 8 T &y o grfie frg 3w T Sfiare



A Switzerland

RS

Russia

Italy

France

pac)
Correct Ans : B

Subject : General Knowledge

Q.No: 11  Mr. Shivraj Singh Chauhan in November 2021 laid foundation stones for setting up solar power plants in three places. Which of the following is NOT one of the place?
2440986

off et g dem 7 TdR 2021 F dF TR IR WR S 9o @Nfa o7 31 anerier w1 Hufiiea 8 4 o o = 3 S T 11 1

Shajapur
A
UL
Rewa
B
e
Agar
C
R
Neemuch
D
RGeS

Correct Ans : B

Subject : General Knowledge

Q.No: 12 During which year the Chhatarpur district came into existence?

2441112

TR e 59 af o sifira & smr?

1956
A

1956

1957
B

1957

1958
C

1958

1959
D

1959

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Which cave of Udayagiri (Udaigiri) is famous for the colossal representation of Varaha avatar?

2441169
I IRk & B9 R 6 RIg siaar F e g F fo vies 82
2

A
2



a4
C

4
D

5

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Keshavrao Krishnarao Datey was a practitioner in the field of -

2441286
ARG FURME & fad & & opardt 42
Cardiology
A
EIRRLE
General Surgery
B
T T faferer
Endocrinology
C
Eresiceal
Neurology
D
dfr-faem

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Which of the following sanctuaries is spread on the hills of Vindhya range from Narmada to the north in the forest areas of Madhya Pradesh?
2441561

g § $H T JUTRUT T T F a7 &5 F Tifer & IR # fre Aoft @t wgifedt w Wan gon 82

Singhori
A

R

Chambal
B

EEEl

Sardarpur
c

WERE

Gangu
D

7T

Correct Ans : A

Subject : General Knowledge

Q.No: 16 What is the literacy-rate in the Madhya Pradesh tribal population (as per Census 2011)?

2441621
T YT Y ST ST § TRl & 7 § (SFFTUMAT 2011 & 3FER)?
58.95%

A
58.95%
50.55%

B
50.55%

C 52.24%



52.24%

65.73%

65.73%
Correct Ans : B

Subject : General Knowledge

Q.No: 17  Who among the following became the first Advocate General of MP High Court?
2441696

Fofifa & 9 S 7 yeY S Imad $ Ugd Heifiddd §4?

M. Adhikari
A
TH. AP
A. P. Sen
B
LA
N. C. Nihalani
C
. 9. Fearit
S. L. Garg
D
. T T

Correct Ans : A

Subject : General Knowledge

Q.No: 18 The M.P. Adhivakta Kalyan Nidhi Adhiniyam was passed in which of the following years?
2441728

.. siftraad seamr AR siffgn fFafafea § § fea of ¥ wiva e mr are

1971
A

1971

1978
B

1978

1982
C

1982

1990
D

1990

Correct Ans : €

Subject : General Knowledge

Q.No: 19 Who among the following is the longest serving Chief Minister of Madhya Pradesh?
2441754

Faffed ¥ 4 o1 9o yey & Yol | 99 q6 Ja1 7 a1 gendd 87
Digvijaya Singh

A
o Rig
Uma Bharti
B
I MR
Shivraj Singh Chauhan
C
R g e
Ravishankar Shukla
D

faRidR e

Correct Ans : C



Subject : General Knowledge

Q.No: 20 Which saree is traditionally made from silk and is mainly produced in Khargone?
2441807

F o T IRuRE Y T W F T G R R 781 T § T § S o 77

Chanderi
A

=28

Maheshwari
B

et

Bagh
c

Clul

Zardozi
D

SrREwSTt

Correct Ans : B

Subject : General Knowledge

Q.No: 21  Which of the following includes the daily routine and the type of food?
2423018

Fofafaa & 9 frad e gt ok JieH &1 TR mfya 82

Routine
A
Frafea wrdww
Lifestyle
B
e el
Schedule
c
ruft
Time Table
D
T WROT

Correct Ans : B

Subject : General Science

Q.No: 22 world Health Day is celebrated on-

2423023
fay wreg Raw & wAm S 8-
7t February
A
7 TRadt
74 March
B
7w
7% April
c
7 o
74 May
D
7%

Correct Ans : C

Subject : General Science



Q.NO: 23 LUWIIS SYHUIUIIE 15 d

2423055
SIREARE A
Mental disease
A
AR W
Contagious disease
B
P! AR
Hereditary disease
(o}
R A
Infectious disease
D

HehTHS T
Correct Ans : C

Subject : General Science

Q.No: 24 Who stated the law of definite proportions?
2425757

Ty srguma 1 Frm e fear?

John Dalton

S SteeA

Proust

e

Newton

Bohr

R

Correct Ans : B

Subject : General Science

Q.No: 25 Choose the odd member out:

2428738
o waw B
salamanders
A
JaHR
toads
B
a8
frogs
C
Hed
earthworm
D
Fgan

Correct Ans : D

Subject : General Science

Q.No: 26 Match the following:
2428750

1 Porifera a

Softbodied

2 Nemathelminths b

Tubelke body with smallpores

Molluscs c

w

Round sessile body




FrfRea @1 fyemd:

1 DRI a

A W

[¥]

AR AT H b

BI TSl & A T AT AR

3 ArTEF ¢

it draTge argr

1-a, 2-b, 3-c

1-a, 2-b, 3-c

1-b, 2-¢c, 3-a

1-b, 2-¢, 3-a

1-c, 2-b, 3-a

1-c, 2-b, 3-a
1-a, 2-c, 3-b

1-a, 2-¢, 3-b
Correct Ans : B

Subject : General Science

Q.No: 27 Check the odd one out:

2428787
faws &t Sifg B:
Mastigophora
A
ARETER
flagella absent
B
FRBT SR
flagella present
C
ST ST
euglena, Trypanosoma, giardia
D

za, feie, Rrenfdar

Correct Ans : B

Subject : General Science

Q.No: 28 Check the odd one out:

2428791
fawm 3 sifg @
saprobionts
A
Shfedes
mycelia is composed of several thread-like structure, termed hyphae.
B
TR % ot SR SRe @ R, R SIS e o B
smut
C
FIRERT (1)
Hydra
D
GRS e

Correct Ans : D

Subject : General Science

Q.No: 29 Which one of the following does not cause water pollution?




2429039

Frfiied & 9 S o Uguu o1 SR T8 87
Fertilisers
A
EEic
Rapid urbanisation
B
ft § wEder
Oil spills
C
a1 feama
Notch sanitation
D

A T
Correct Ans : D

Subject : General Science

Q.No: 30 is a unidirectional path of eating and getting eaten.
2429236

T IR el & gRT WA W T U =g Anf 21

Food web
A

RelBEEC

Food group
B

BTG

Food system
C

e yoret

Food chain
D

T s

Correct Ans : D

Subject : General Science

Q.No: 31 Phylogeny is the study of:

2429860
S I BT ST B
development of an individual
A
T S P
recreation
B
fagr
evolution of species
C
et 1 frg
biological studies
D

S srem

Correct Ans : C

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429873 question from the given options.

Assertion : (A) Salamander, bufo and hyla belongs to the amphibians.

Reason: (R) They have three chambered heart and no scales are present over their skin.

= Fofofaa uy & < oy § O 3t o sifieys” iR g 1 "SR & T4 H A9 501 T 1 YS! 37 Bl Sl 3 FaUFIgd® o St § 3R 3T e et § @ uy o 96 IW



SHBYA: (U) HedHeR, gbl SR glgdl SHUYHURI o Sdild Slidl g1
PR (R) 37 gl & o1 B 81 § 3R S9! @4 W B e A 781 8 &
(R) is true but (A) is false.

A
(R) T & A (A) Te@ B
(A) is true but (R) is false
B
(A) ¥ ¥ AP (R) T §
(A) is false.
C
(A) T §1
(R) is the correct reason for (A)
D

(R) (A) F R & FRU §
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430050 question from the given options.

Assertion (A): Sometimes, yoghurt becomes bitter and froths up.

Reason(R): If the formation of lactic acid is more, then the yoghurt might taste bitter and even get spoiled.

ewr: Pofifed vy § & wu § Rl @ U@ ) e SR g B HRU" F S W Aqa A1 191 31 9D §7 G Sl B GrayHgde S et § iR U T fawed 8 9wy &1 9e) SWw
AP (A) : Fii-Tf E FgaT @ I B SR ITH T S T B
FHROT (R) : Tfe; Afded 3pa o1 i sifdfe gar ], O <8l & Wie Heal gl 9odl ¢ SR Twe 2ft g1 I&ar 21

Both A and R are true

A

AIRRIFTAE

Both A and R are false
B

A R R 3 o §

A is true but R is false.
C

A 2 AR R 3E R

A is false but R is true.
D

A 39 § AfFT R TR
Correct Ans : A

Subject : General Science

Q.No: 34 Plastic disposal is the principle.
2430144
wies fmed . Rgfa gl
5R
A
5 3R
7R
B
7 3R
9R
c
9 3R
4R
D
4 3R

Correct Ans : A

Subject : General Science

Q.No: 35 A material that gets decomposed through natural processes and action by bacteria is called



2430145

T yard S wigfae viwmarst SR e R fra & mem  feRa Ao, Fwamr

Biodegradable

ElEICPEER]

Non-Biodegradable

-3 Frfiwcia

Bakelite

Sdege

Melamine

e

Correct Ans : A

Subject : General Science
Q.No: 36 Find the wrong term in the series?
2422598

3,5,9, 15,23, 35,45

el | TTed $H BT Yl TE?

3,5,9,15, 23, 35,45

45
A

45

9
B

9

15
C

15

35
D

35

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the odd word out.
2424553

SR ek B I Bl
Allaudin Khilji

A
s feT it
Qutub-ud-din-aibak
B
PS54 TP
Iltutmish
C
o
Razia
° <

Correct Ans : A

Subject : General Reasoning

P PP S P F PP AP U SEUUY TR ISR SO Y SO B DIPPISOU TN

e te L

[ R B,

PRSI TR PO

[T U PR T



Q.NO: 38 SFISLL UIE SLLEITLIUSLED LAt 13 1€1aLEU W LI U IELET TUUSLEL BT UIE dllE way ad UIE SELUHU ISLLETLIUBLET 1> TEIALEU WU LHE HESL IS0 TLIUSLen

2426304
ACEG : IKMO :: QSUW : ?

I SER-TE BT 907 HY ol AR SHeR-TE F S THR Gafd § S8 guRT SiaR-Uwg, e 1eR-Tg § W 7

ACEG : IKMO :: QSUW : ?

YZCE
A

YZCE

YACD
B

YACD

YBCE
C

YBCE

YACE
D

YACE

Correct Ans : D

Subject : General Reasoning

32.”:‘2 43694 Select the option /number which is related to 3/ number in the same way as 22 number is related to a
st number?
4:20::9:?
W TEAT [fAeT T 99 Y S SOl FEw ¥ 3 YR Hatd § S gul TEar ggen
T W weafoa § |
4:20::9:?
81
A
81
90
B
20
72
o
72
29
D
99

Correct Ans : B

Subject : General Reasoning

%1"‘2%44206 Select the option /number which is related to 31 number in the same way as 2% number is related to a
1t number?
121:6::231:7?

W GEAT [RAFeT F 994 HT S el TEw & 36 YR Geitd § S gud gE ggel
HEa ¥ e ¥

121:6::231:?

9

14

14



21

21

Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the given diagram, Triangle represents shoes, Circle represents leather, Rectangle represents Males.
2426575

Which number represents Male shoes are not of leather?

T e o #, By S 37 wlfficd a1 8, 79 THeS o1 ufalifia owar €, omd gt o uiafAfie oRar 31

BI-H T i 8 i geut & o 99 e 82

5
A

5

1
B

1

a4
C

a

10
D

10

Correct Ans : C

Subject : General Reasoning

Q.No: 42 In the given diagram, The preference of some people are given. When Circle represents Action films, Square represents Horror films, Triangle represents Animated films and R
2426614

Which area represents the preference of all films?

o MU o , $& ARl Bt alga § TS 31 99 9fba v el @ ufafafia wwar 8, 3 e fredt @1 sfaffie s g, Rye thaes fret @1 nfaffia FRar 8 ol smaa sfeua fawme e

9

10 \n
12
8 713\

\

B & e el 9 adaan &1 wiaRia w82
A 5




7
B

7

13
C

13

6
D

6

Correct Ans : C

Subject : General Reasoning

Q.No: 43 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429549

MQ:0::DH:?

I fieed 1 797 I S R U8 F ST TPR Hafd § S g Ug Ued UG § Hafd B

MQ:0::DH:?

E
A

E

F
B

F

G
c
D

H

Correct Ans : B

Subject : General Reasoning

Q.No: 44 If W is grand Mother of X. X is son of Y. Z is sister of Y. How Z is related to X?
2429584

iy w, X BHE/AR R X, Y ST R Z, Y B a6 31 Z, X A 59 o wefda 32

Sister
A

ol

Mother
B

Hidr

Aunt
C

3t

Father
D

forr

Correct Ans : €

Subject : General Reasoning

Q.No: 45 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433150 qriginally related to the sequence of that series.

ASF, D6], H7M, M8O, S9P,



I4lcliRdd YA H, IS Ul SHER] bl Ueb [HI-d #dall @l g g, [vidH o b el didl g1 SliUchl Yg dd bRl g Id Hol U Y 3 Hdadl o SigebH d dellgd R Ul H Gtk abl bl HI deblelch e

ASF, D6], H7M, M8O, S9P,

711Q
A

711Q

210Q
B

Z10Q

z11p
o

z11P

z10pP
D

z10pP

Correct Ans : D

Subject : General Reasoning

Q.No: 46 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.

2433439
“IP G |-
I4 faped 1 799 HY S At g fa § S UeR Wid B Forg TR et ol ueeh spfa § Hefia B
«@ >
19 HE |
A
¥
i
B
il
H
c
P
i
D

Correct Ans : €

Subject : General Reasoning



Q.No: 47 Complete the question figure by choosing the best alternative from the answer figure.

N
N
Nz
Z
N
g
N
g
N
0

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434900
52:49::72:7?

I e o1 9 ¥ S TRt e § St ueR et 8 SR gud W, ugd Ten 9 wefdd g1

52:49::72:7

81
A

81

67
B

67

55
C

55

ao



98
Correct Ans : A

Subject : General Reasoning

Q.No: 49 Laxman travels 7 km towards south and then 5 km towards his left. He further travels 5 km towards south. How far is he from the starting point?
2438472

& SR B SR 7 et SIR R a1 SiR 5 forelt @5t amn wRal §1 9w ol afér Y iR 5 et Bt arn wean 31 98 omifhe fiig @ A R E
13 km

13 foedt
9 km

9 fordt
V149 km

145 faaft

V119 km

V119 et

Correct Ans : A

Subject : General Reasoning

Q-No: 50 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438689

A

afe; T g 31 g TS Y1 R @ o, @t d g fowen srpfodl # § $-t w8t gdfur ofa grfe
A




N @ &

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Prateek's father is Qutub's son. Manish is the paternal uncle of Prateek and Nayan is the brother of Qutub. How is Nayan related to Manish?
2439311

el & T $ge & 4 81 Y Yl 7 91 § SfR 759 Fga o1 IS B 5, T Q5 ueR el 32

Cousin
A

EENRYES

Brother
B

uig

Nephew
Cc

affter

Uncle
D

T

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440191 majn statement.

If you wear jeans, you will look taller.
A. You wore Jeans

B. You did not wear jeans

C. You looked taller

D. You did not look taller

f3T U vy § g T SR I9F A8 AR B §1 FUAT BT B IH I, SeT T80 HUF BT A quk B § 3, R T T Aiee w0 9 g8 HUT § W 3
3R MY SIS TE 8 ot o el fede i

A. 39 Sff=a gl oft

B. 3o Sitw 7 vt B

C.omgn feaw

D. 3T T Tl a1 3§ &
AC

AC



BA

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440348 main statement.

The citizen are either informed or misinformed
A. The citizen are informed

B. The citizen are not informed

C. The citizen are misinformed

D. The citizen are not misinformed

R TE Y F g1 U AR I9F 918 TR FYA &1 FU BT B T A, T8 Ugd Y B ad g Y G B, iR & Fy e T § I $y § 9 8
TRt B a1 o G AT ST & A e ga & o §

A. TR F gferd o < 3

B. SIRIR®T &1 Gferd e foa omen §

C. RS! Y T THHR & St §

D. IR Y 1Tt ST T 3

cD
A

cD

DA
B

DA

CA
C

CA

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440417 majn statement.

He is either from Asia or from Africa
A. He is from Asia

B. He is not from Asia

C. He is from Africa

D. He is not from Africa

fou 1T Uy B GBI U SR IS 918 IR FUA §| T BT BT G T, 8T T5d U BT A G F9F 9 B, iR & Ty e EU § T FYA § U 8
g 1 A TR Y R AT plHT A 7

A TFUR@EIR

B. 95 URMT ¥ TET 8

C. 9% ST & §

D. 98 3MHIHT & T8 ¥
AB

AB



DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning
Q.No: 55 Select the related letters from the given alternatives.
2441964

ACF: GIL::0QT:?

fou e fasedl § § Tafa sieri @1 g

ACF:GIL:: OQT:?

VXY
A

VXY

uwz
B

uwz

RSV
C

RSV

vXz
D

vXzZ

Correct Ans : B

Subject : General Reasoning

Q.No: 56 H .. - - +2(50 +
135378 Simplify: 1080-[39 - {18 +2(50 = 10)}]

WA ST 1080 - [39- {18 ~2(50 ~ 10)}]

1078
A

1078

1090
B

1090

1080
C

1080

-1090
D

-1090

Correct Ans : A
Subject : General Maths

Q.No: 57 ¢; ifv-82 -[52 - -(15=-21=+ 2
0423388 Simplify: 82 -[52- {50-(15-21+7x2)}]

A BT 82-[52- {50-(15-21+7x2)}]

A 69



69

70
B

70

72
C

72

71
D

71

Correct Ans : D

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.21000 for one year at the rate of 32% per annum, if the interest is compounded quarterly.

2423610
21000 T3 HT 32% U 9§ T X A TP a¥f &1 Tohgle s T P, A s A 3 71
Rs.7570.26816

A
Rs.7570.26816
Rs.6712.12890

B
Rs.6712.12890
Rs.6376.51234

o
Rs.6376.51234
Rs.3218.18901

D

Rs.3218.18901
Correct Ans : A

Subject : General Maths

Q-No: 59 Shyam borrowed a sum of Rs.18700 from a finance company to purchase a almirahs. If the rate of interest is 9% per annum compounded annually, calculate the compound in

2423625 company after 3 years.
W A U SERI Tl & T U6 By Su-t § 18700 T0 3ot IR IUR ol | 3% o191 31 &R 9% Ul 99 a1t TAford €, df 39 ddbgie &6l $I T0HT X off O &l 3 98 & 918 HU Bt Y
Rs.2431.941

A
Rs.2431.941
Rs.1020.320

B
Rs.1020.320
Rs.1683.219

C
Rs.1683.219
Rs.5517.0423

D

Rs.5517.0423
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428626
{955 +5-220f15+46 x 9-780f6 + [49 + 7 + 93 0f 7 - 26 x 6 + (46 x 3 - 343 of 15)]}
ks
{955 +5-15P122+46 X9 -6P178 +[49 + 7 + 7HI193 - 26 x 6 + (46 x 3 — 15 &I 343)]}
-5698

A
-5698

B -8998



-8998

4698
C

4698

-4698
D

-4698

Correct Ans : D

Subject : General Maths

Q.No: 61 Jay has 14 boxes of paper and divides them evenly between 4 coworkers. How many whole boxes did each coworker get?
2432575

D F U I F 14 5 § MR 98 I 99H T § 4 Tgotadl & did dic a1 81 TS TeHH B o I I e

2
A
2
2.5
B
2.5
3
C
3
4
D
4

Correct Ans : C

Subject : General Maths

2;1”3‘1;6‘;26 If the roots of quadratic equation are equal then find the value of k in equation 2x2+ 8x+K =0

i¢ fgerd YHihRUl & Yol SRI6R G, dl 2x2 + 8x + K = 0 H k &1 HIH J1d I

8
A

8

6
B

6

7
C

4
D

4

Correct Ans : A

Subject : General Maths

.No: 63 .
(2243‘34745 If 2m + 3n =12 and 4m? + 4mn — 3n? = 126, then what is the value of m + 2n?

Ife 2m + 3n = 12 3R 4m? + 4mn — 3n2 = 126 % dm+ 211$II{F[@T%I

-3

=18



99

16

Correct Ans : D

Subject : General Maths

2.4'\21;:76746 If atbtc =9, a2+b2+c2 =29 and a3+b3+c3 = 99; then find the value of v3abc

& atbtc = 9, a-+b2+c2=29 3R as+bi+c3 =99 %, dl Vzabe HT AH Id ond

2\2
A

242

63
B

6\3

6\2
(o]

62

5
D

5

Correct Ans : C

Subject : General Maths

Q.No: 65 The profit gain by selling a notebook for Rs. 56 is the same as the loss obtained by selling it for Rs. 42, What is the cost price of the Notebook?
2435221

T e g B 56 T T Y9 § S 1 U1 el §, T8 3 42 00 A I | 7 a1l 71 & R B1 e 5 B ARG G 1 82

Rs. 40
A

40 3

Rs. 50
B

50 ¥0

Rs. 49
c

49 Y

Rs. 45
D

45 T0

Correct Ans : C

Subject : General Maths



Q.No: 66 An article is sold at 20% loss. Had it been sold for Rs 40 more, the loss would have been 10% only. What is the cost price of the article?
2435241

TP T 20% THIME R I et 31 3G 37 40 9 F 7 ST o THIAH 10% § STl G BT AN Ted J1d Pifore?

500
A

500

600
B

600

300
C

300

400
D

400

Correct Ans : D

Subject : General Maths

Q.No: 67 Ram loses the cost of 6 pens of selling of 144 pens. What is the percentage of loss?

2435301
144 U 97 R IA B 6 I ¥ 3wy Heg & seR g1 gt 31 1 ufera @ g2
2
A
6
B
6
14
C
14
4
D
4

Correct Ans : D

Subject : General Maths

.No: % . .
24;746789 Martha spent = of her allowance on food and shopping. What fraction of her allowance had she left?

1T Ul 3R TIGRI TR 3T HR o1 2 T 11 T 1 1 Tl 3fe SHeh Iy A g2

4
3
A
4
3
3
9
B
5
9
7
3
C
7
3
D

W]



1
3

Correct Ans : B

Subject : General Maths

Q.No: 69 Considered the following statements:
2437499 o
I. When q =0, then,; =w

)4
II. When q =0, then; =0

Which statements is true:

FafiRig ey R faaR &
I.Eﬁq=0=?ﬁ,§ =»
IL9Eq =o,ﬁ§ =0

AN BIATAS:

Only I

Fad 1
Only II

Fad I

Both A and B

Ml A SR B

None of these

T A B T
Correct Ans : A

Subject : General Maths

(224N3°7 57509 3’5 of the bread is eaten by Rakesh and the rest was equally distributed among 4 children, what

part of bread did each of the children get?

Y S 59 T R AW Bl 4 Fadl & A9 GAr @ GaRd e, 9 9w o 68 @l
forer fow et gem

1
6

LA

vl

nik

Wik

wn

N

1
7
Correct Ans : A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘ABSENT' is written ‘ZYHVMG’ then ‘PRESENT’ will be written in the same language as?
2422548

Tfg et ichfae Ut & 'ABSENT' &1 'ZYHVMG' feral <ITe <l 'PRESENT' &1 3t HieT # ferar smom oz



A KLHVHGM

KIHVHGM
KIVHVMG

KIVHVMG
KITMHMG

KITMHMG
GKITYTL

GKITYTL
Correct Ans : B
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘COOL’ is written ‘ABBC’ and ‘BOOK’ is written ‘DBBE’ then ‘COOK’ will be written in the same language as?
2422578

T it Widsfam wen & 'COOL' BT 'ABBC’ forar ST § 3ik 'BOOK’ &1 'DBBE' fral SaT § d 'COOK' Y 3t HraT # feran sem fordiz

ABCB
A

ABCB

EABB
B

EABB

ABBD
C

ABBD

ABBE
D

ABBE

Correct Ans : D
Subject : Mental Ability

Q.No: 73 Tp 3 row of students, Chaya is 20 from left end and Aarti 1s 15% from right end and there are 8 students
2425596 | A ; ! 2
in the middle. Find the total number of students in a row.

SE B T U F ST 91 BR ¥ 209 RIF W g SR 3R el §R F 158 ™A | § 4R dt ¥ 8 3H §1 v dfca & fenfial 3 oo Sem 31 Fikm

41
A

41

44
B

44

42
c

42

43
D

43

Correct Ans : D

Subject : Mental Ability

Q.No: 74 In a certain code, 3456 is coded as ROPE, 15526 is coded as APPLE, then how is 54613 coded?

2426514
% fAfd FIs H, 3456 $F ROPE & w4 & HIfSq fbar o1 §, 15526 B APPLE & U T HIs 501 91T 8, @) 54613 &1 Y Sig fosar smamme
RPPEO

A
RPPEO

B ROPEA



ROPEA

POEAR
Cc

POEAR

PAREQO
D

PAREQ

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430258 vyoy are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: In a recent survey, it has been stated that those who undertake physical exercises for one hour a day are less prone to have any heart ailments.
Conclusions:
1. Easy level of physical exercise is necessary for leading a good and healthy life.

II. All people who do desk of bound jobs definitely suffer from heart ailments.

Pofafaa usil 3, <1 oy < e 1, 11 97 SFRRU 6Rd 7 Sua! ST HUAI R TR S 9, 4 @ § 3mdR W Ird audl § wdlid 89 @il smue! By Ry e A ¥ 9l feed @) A S 3w

B BT F TP T4 H, g BT 71 § {5 S odn e A uw W & o e samam avd €, S gea A9 8 B WUIa &A gt
frsp:

1. 35 3R W Sfa SiF F AT oM ¥R $1 IRIRS I™m 3MEawas g

I1. 3% i SISS S B3 ara weft di Ffe w5 9 geg 3 3 difsa 71

Only conclusion I follows

A
Pad FIpY 1 SR Far 8
Only conclusion II follows
B
Faa sy 1T STeRY dRaT §
Either I or II follows
Cc
I I T 1T SRR FRel §
Neither I nor II follows
D

TA I MRT S IT TR TR ¥
Correct Ans : A
Subject : Mental Ability

Q.No: 76 If PEOPLE is coded as EPPOEL, then how is TURMERIC written in that code?

2434435
i PEOPLE P EPPOEL & =0 § e f3ar Sfram §, ol 99 $e # TURMERIC $1 69 feran Simar 82
RUTREMIC

A
RUTREMIC
URMRRECI

B
URMRRECI
RUMRERCI

C
RUMRERCI
UTMRRECI

D
UTMRRECI

Correct Ans : D
Subject : Mental Ability

Tn nnactinn halaw ara thraa ctatemente fallnwad hy twin canchicinne niimharad T and T Van have tn tale the aiven ctatemeaente tn ha triie even if thev caem tn ha at varianca fi



Q.No: 7/ . . . . . .
2435471 decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some papers are files.

II. Some files are data.

I11. Some data are records.

Conclusions:

I. Some data are papers.

II. Some files are records.

Option A: Only conclusion I follows.

Option B: Only conclusion II follows.
Option C: Both conclusions I and II follows.

Option D: Neither conclusion I nor II follows.

12 e g e R P T g § e a1g & e 1 90R 11 Qg 1 ¥ et fw Y Sl ot W W €, v @ 3 e a9 i et 9 91 o R @@ o 6 e W e fag o 3
P

1. 8 TR BEd g

I1. T B39 S 81

111 3§ 31T RlE &

e

L. $O Sl IR |

I1. $& BIgd Rl g

Only conclusion I follows.

Paat Ty 1 SFFER IR B

Only conclusion II follows.

Fae e IT SR H=a 31

Both conclusions I and II follows.

SRl e 1 3R 11 SR Ba B

Neither conclusion I nor II follows.

T sy 1 SR T & 1T SR Fer 21
Correct Ans : D

Subject : Mental Ability

Q.No: 78 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435531 conclusions and then decide which of the given conclusions logically follows the given statements.

Statements: 1.All cars are vehicle.2.Some cars are toys.
Conclusions:

I. Some vehicle are cars.

II. No vehicle is cars.

III. No toys is vehicle.

IV. Some toys are cars.

Frofafea vy § o FU & 915 $o ey 3y mu ¥ faw 71U FuEl B I@ 7ed g, o) @ 9 I B S 319 9t § i did g g, it el 31 ug ok R g ) 5 a9 a1 e fog e
T

1. 9 R, 967 31

2. $9 &R, AR 71

o

1. $S 16, BR g

IL. HF T, PR T §1

111 B REGH, a7 B

Iv. $B fAdH, R 71

A Only conclusion I and II follow



DA T%PY I SR 1L SR PR Tl

Only conclusion I and IV follow

B
Faa ey I 3R IV IR 9 B
Neither conclusion I nor IV follow
C
T fep 1 AR T € 1V ST T B
Only conclusion II and III follow
D

Faa Py 11 @R 111 3Ry Bxa 1
Correct Ans : B
Subject : Mental Ability

Q.No: 79 How many smaller pieces are obtained by making two cuts in X plane, three cuts in Y plane and two cuts in Z plane on the same cube?
2438391

TR R X TAH S Fe, Y aa A dF Fe 3R Z 9 H 1 de T J faq 31 gPhs U gid 82

12
A

12

24
B

24

36
C

36

50
D

50

Correct Ans : C
Subject : Mental Ability

(22"";‘;5104 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements
PL<I>V20=T<S
Conclusions
I.LO>P
I.S>V

FATTaa 93 &, Sl & g oo [T 7T §

2T 1T &t & HTUR T AR &7 HeTaa Y AT AT oo & &9 A 39gad [daed o a4+ #i
FU

P<I>V20=T<S

s

L.O>P

IL.S>V

Neither conclusion I nor conclusion II is true

A
73 e 1 o 7 € e 11 v
Either conclusion I or II is true
B
o Pl 1A I v §
Only conclusion II is true
C
FraffrrTa s
Only conclusion I is true
D

Faa s 199 8

Correct Ans : A
Subject : Mental Ability



Q.No: 81 1y tpe following question, the statements are followed by conclusions. Study the conclusions based on the given

2438604 - :
statements and select the appropriate option as your answer.
Statements:

M>RLT=52A;5S<B;P=B
Conclusions:
I. MA
II. A<B
AFafafad g 3, FU=! & are vy faw e §)
TET 31T werell & ITUR T TeTohy Tl eI Y 3 T See & &9 A 3Ugere [awed B ahe H
EaicH
M>R<T=S2A;5<B;,P=>2B
forsed:
I. M<A
I.A<B
If only conclusion I is true
A
Exchsad i
If only conclusion II is true
B
Faa e 1w
If either conclusion I or conclusion II is true
C
a1 e 1T 11 W §
If neither conclusion I nor conclusion II is true
D

A I RTRIITTR
Correct Ans : B
Subject : Mental Ability

Q.No: 82 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439090 haye to decide which of the given conclusions, if any follow from the given statements.

Statements:

All carrots are vegetables.

No carrot is a tomato.
Conclusions:

1. Some vegetables are tomatoes.

II. No tomato is a vegetable.

A RE g gy A &) HT U1 SUF gTd & ey 1auT 11 AT e F 1 suel T T Sy @) I 7T B, WAl ) 98 OdeIa 9df O i vl §10 8 a1 SRl & SffuR W Sue! S IR &A1 |
T

Fft TR wfeora g1

I TR TR e §1

e

1. $% Hfewar AR g

I1. T TR oot T B

Conclusions I follow

Frepd 1 g BT

Conclusion II follows

e 11 SR FRar ®

Either conclusion I or II follows

1 d s 191 11 SRR e §

Both conclusions I and II follow

BRI Y 1 3R 11 SRR R §

Correct Ans : C



Subject : Mental Ability

Q.No: 83 If‘rain’ is ‘water’, ‘water’ is ‘road’, ‘road’ is ‘cloud’, ‘cloud’ is ‘sky’, ‘sky’ is ‘path’ path is ‘sea’, where
2439273
birds fly?

Iy T O R, A USH' ¢, 'GSD' ‘Teq 8, G B B, B T R, Iy T ¢, Uelt Fef I €2

Road
A

S

Path
B

LY

Cloud
)

qed

Water
D

o

Correct Ans : B
Subject : Mental Ability

Q.No: 84 Arrange the following words as per their order in the English dictionary choose the one that comes at first place.
2442723

1. Temple

2. Tenant

3. Terminate

4. Temperature

Frafeiea el o1 TeamR # 3T T8 HH & SRR TYH Tes Sy
1. Temple

2. Tenant

3. Terminate

4, Temperature

Temple
A
Temple
Tenant
B
Tenant
Terminate
C
Terminate
Temperature
D
Temperature

Correct Ans : D
Subject : Mental Ability

Q.No: 85 Arrange the following words as per order in the dictionary.
2442728

1. Manifest

2. Meticulous

3. Meridian

4, Merchant

Frafafea Tl @1 wsseiw 7 T 1T B & ofgER fafau
1. Manifest
2. Meticulous

3. Meridian



4. Merchant

1,4,3,2
A

1,4,3,2

2,1,4,3
B

2,1,4,3

1,3,2,4
C

1,3,2,4

2,3,4,1
D

2,3,4,1

Correct Ans : A
Subject : Mental Ability

Q.No: 86 Rohit can do a piece of work in 720 days. How much work can he do in 30 days?
2423690

fed T FM F 720 & § I T 31 78 30 e & e w1 % wan 22

1

24

Correct Ans : A
Subject : General Aptitude

Q.No: 87 ' If 17 boys earn Rs.918 in 3 days, what will 20 boys earn in 5 days?
2423711

g 17 dg% 3 o H 918 T AR €, o 20 TsF 5 A F faven HaT?

Rs.1586
A

Rs.1586

Rs.1387
B

Rs.1387

Rs.1800
C

Rs.1800

Rs.9876
D

Rs.9876

Correct Ans : C

Subject : General Aptitude



Q.No: 88 Which of the following is divisible by 23?

2427639
Fofufea #§ 4 o1 23 § fausa 2
79632
A
79632
17906
B
17906
863268
C
863268
694623
D
694623

Correct Ans : D

Subject : General Aptitude

Q.No: 89  The sum of three consecutive number is 123.The smallest number is?
2431236 TR dfiF SRSl 3 A 123 §1 99 B 9 22

S
B
c 3
°

Correct Ans : B

Subject : General Aptitude

Q.No: 90 Difference of the lengths of any two sides of a triangle is always less than

2431354

Byt & & YoTel T TraTgdl $T SR T FH Bl §
A The third side of the triangle

Py ot deR yor 9
B Bigger side of the triangle

T S Y

c Lesser side of the triangle

By ot Iad St Yo |

Can't say
° g Tl 9B

Correct Ans : A
Subject : General Aptitude

Q.No: 91 Two trains start from a certain place on two parallel tracks in the same direction. The speed of the trains are 45 km/hr and 40 km/hr respectively. The distance between the tv
2435994

3 2 ot ®M | ) IR el R T fmn & gadt 81 e Bt ifa vEan: 45 . /ser 9iR 40 . /eer &, d 45 e a1g 2 o & i Y g e Sl

2.5 km
A

2.5 fef.

2.75 km
B

2.75 &

3.7 km
c

3.7 foet.

3.75 km
D

3.75 ot

Correct Ans : D

Subject : General Aptitude



Q.No: 92 A and B started towards each other at the same time from places 123 kms apart and met in 4 hours. If A’'s rate was 12 km/hr, what was B’s?
2436032

A SR B TP g ¥ 123 5. 3t gt W B 351 e g 31 oiR Ue & vy Fe R b ok 4 62 A | afe A 3t = 12 /e o, & B 9 A @ ol

18.75 km/hr
A

18.75 km/hr

18.25 km/hr
B

18.25 km/hr

16.5 km/hr
C

16.5 km/hr

16.75 km/hr
D

16.75 km/hr

Correct Ans : A

Subject : General Aptitude

Q.No: 93 Two person moving from point A to B at the same time with speed of 40 km/h and 60 km/h faster person first reach the point B and return towards A and meet the slower per
2436042 point B. If distance between A and B is 250 km. Find the distance of meeting point from point B.

< Ffa fig A 9B Tt 3R U@ & w1 R 40 fFH/eier g 60 fai/eer o 71a & 9ad §1 O Fem aTan Jfd Ued B fig W ygTar § ok 9iftg A R T § 98 I H 4R Fe ard safda @ e
B M O I aren e IR Te A1) safdd @ fig B 9 ot gft R e

50 km
A

50

500 km
B

500 foeit

300 km
C

300 & ft

30 km
D

30 it

Correct Ans : A

Subject : General Aptitude

Q.No: 94 The least number that should he added to 10000 so that it is exactly divisible by 327 is:

2436156
rfad g8 forl 39 10000 H SiiS 9T I a8 327 ¥ fega favrsa g1
237
A
237
137
B
137
190
C
190
327
D
327

Correct Ans : B

Subject : General Aptitude

Q.No: 95 What is the least value of x such that 517x324 is divisible by 12?
2436203



X ] YeAdH HiH gl gl INHEY 51 /%324, ABHl 12 8 1dHIwY gl vilg?

3
A

3

1
B

1

0
C

0
D

2

Correct Ans : D

Subject : General Aptitude

Q.No: 96 The sum and LCM of two numbers are 156 and 504. Find both the numbers?

2436982

G TSt 1 N7 SR 9.9.9. AN 156 SR 504 F| T G 10 Biforg?

72,84
A

72,84

24, 27
B

24, 27

37, 54
c

37,54

72,94
D

72,94

Correct Ans : A
Subject : General Aptitude

Q.No: 97 The H.C.F. and L.C.M. of two numbers are 5 and 120 respectively. If the sum of two numbers is 55, then the sum of reciprocals of the numbers is equal to:
2437916

& gl 1 9.9, AR A9, HUR: 5 SR 120 T AR G Gemall &1 9w 55 B, 0 Gemelt & el &1 e e aReR g

11
120

55
601

55
601

601
58

601
S5

120
11

120
1

Correct Ans : A

Subject : General Aptitude

Q.No: 98 Some persons can do a piece of work in 84 days. Two times the number of such persons will do half of the work in?
2444432



T A ot F1f Hi 84 faft # TAE TR YHhd €, & QA AT 1Y T Hi e fowt & 9o = what 82

14 days
A

14 f&T

16 days
B

16 &7

15 days
C

15 f&F

21 days
D

21 A

Correct Ans : D

Subject : General Aptitude

Q.No: 99 A, B & C can do a work in 10, 20 & 30 days. They all together start the work. After some days A left the work. The next after 2 days B left the work. The rest work is done by (¢
2444506 the work:

A, B a C f&ft & 31 10, 20 9iR 30 & & 3% Gad &1 § Wft Wy 7 [E 7@ §1 $T A 916 A I SIS a1 71 I 2 o 91 B I O SaT 81 [9 o ¢ gR 3 AT A e sar g1 A Y i

1 days
A

17

2 days
B

2feT

3 days
C

3 A

4 days
D

41

Correct Ans : D

Subject : General Aptitude

Q.No: 100 DIRECTIONS: Complete the following series.

2444672
3,11, 19,59, 115,347, .
P Pofofea e 31 o B
3,11, 19, 59, 115, 347, _____
1043
A
1043
691
B
691
912
c
912
721
D
721

Correct Ans : B

Subject : General Aptitude



